scs(e

High Pressure

SCS RF—NE F7—-F /RN




scs(e

High Pressure

SCS RF—NE s—F» /XN
1§ - i - SEM 4 BEOSS

B-d-BECBIZTLIFTNI =T b/ L BENY FPRA XL 47D CNC fielE, #i - 14
BA~vs=vrtra— W £V R7 77— VICERHREY,

MWERSIS T4 BED A v F v T

o DECA: ¢3.07%/ X)L (Max.150bar :514/min)

o HECTO: ¢6.07v/ X)L (Max.100bar : 1684 /min)
o MEGA: ¢1057%/ X)L (Max.80bar :460¢ /min)

o GIGA: ¢16.05%/ X)L (Max.80bar :1,068£ /min)

A DECA HECTO MEGA GIGA

( Bar) (¢ /min) (@ /min) (@ /min) (0 /min)
8 12 48 145 338
15 16 65 199 463
20 19 75 230 534
30 23 92 282 654
50 30 119 364 844
80 38 150 460 1068

100 42 168 —

150 51 —

TLIF TN —F v b/ DL Fy bR EDEOMIT R THERERE T,
¥{B L EFE(20bar L) DIFEIE R/ F TOFEDFTANETT,

RO a v T LIt £AARDIRBCEICHAEY, R/ XF2FEALE<TH, LERDCEEAFIEE
TY,

HAMDPH A I, TT7—TOIMLIARIBETT,

“Hefal” (IC) D/X—=YIZHWT, BSP 2 PE7RARDIKIEA 1 2HY £9, ZLTNPT 2VI2F 22D
DBV £, X MUy I DIIBLED DY £HA. COLENTHEICRATS 2 ENEEKET,



scs(e

High Pressure

A ARIFS A7, ZnNi B (EX 0.9~13um) LR F—LICBII2Ea0BETCEEL TV E
ER

ND-GE-01 (ZHEHLL ., EAR~T Y 7ILIHKREBEREI I 5WLh. 35°CT 5% D NaCl BEORIE/KDFET
A0 BT A b &E L L7z HBRIZ. RT L XXF—IL AISI-303 O EHEOIEEASE & —3d B HZF L
rehyELI

GIGA x> MEGA » 7’022 L\ Tl% 80 bar

(1,160 psi) £ . HECTO 7B o' Z L
(21 100bar (1,450 psi) %, DECA @
7’0477 L1213 150 bar (2,175 psi) £ T
DEDITHZET,

FVEBOMEY A FICZET/ Sy F oM
HDBI-HFFDOTIHERANITES

4 7848(DECA, HECTO, MEGA, GIGA) R & — & —F  }

DECA PROGRAM HECTO PROGRAM
Wb e et :
MEGA PROGRAM GIGA PROGRAM

www_scs-hp.com




scs(e

High Pressure

SCS RF—WVHI—FV L RTL TyvEry7U—
Pk - EL EHEED

EERY—ELE—

FEE X TORN

OtiEsiest & Betal DHER

QZTEARIICEHE T, B, EHEEET 2

QFEAARICALE T/ ZILOFR, OREEET S




scs(e

High Pressure

A R-2 4 T OheBEA~DET T

Y —IL DB HER% SIS % HECTO 2 R T 4

-

L
L3
\'#
37
A¥ 5

HECTO (6mm) 07 v 7 — MEGA (10.5mm) @77t 77) =

4 x 1 unit ME-IC-01-02, F 2 — 7R : NPT 3/8"(M)
4 x 4 unit ME-AC-01-00, F 2 — 76t : L:285 mm

4 x1ME-AC-01-02, F 2 —7H55 : L=1285 mm

4x1 unit ME-NZ-01-00 X hL— ./ X)L

D:10.5 mm & L:27 mm

4 x 1 unit HE-IC-01-07, F 2 — 7HR4& © NPT 1/4"(M)
4 x 1 unit HE-AC-01-00, F 2 —7#&#: : L:20.5mm
4 x 1 unit HE-NZ-03-00, / XJL 90°. 1D:3.4 mm x 3 & L:24 mm

2 x 1 unit ME-IC-01-02 F 2 — 7HE&-404% - NPT 3/8"(M)
2 x 1 unit ME-NZ-01-00 X kL —k / X)L
[D:10.5 mm & L:27 mm



scs(e

High Pressure

CNC e a—4& Y —Y — ik Z —~ DT T3]

A—& Y —Y—JLiRILZ—IZEY) 415 7= DECA > R T L A—& 1 —Y—JLFRILZ—|ZEY {FF7= HECTO > X5 L
X bL—F /X)L ID:3mm & L:10mm X bL—F /X)L ID:6mm & L:16mm

A—& Y —Y— L)L —|ZE) {41F7= HECTO ¥ X7 L A—& Y —Y— L)L —IZEY {13 7= HECTO 3 X7 Ls
X bL—F /X)L ID:3mm & L:20mm A kL —F/ XL ID:3.4x3mm & L=20mm



scs (e

High Pressure

DECA (3 mm) PROGRAM

Initial connection: 1EE2R
Btisial & B SR i/ X\—"7/, ID : 3mm

M8 RF—

DE-IC-01-00 M8x1(M) to articulated connection DECA.

DE-IC-01-01 M5x0.8(M) to articulated connection DECA.

DE-IC-01-02 M6x1(M) to articulated connection DECA.

DE-IC-01-03 M10x1(M) to articulated connection DECA.

DE-IC-01-04 BSPP 1/8"(M) to articulated connection DECA.

DE-IC-01-05 BSPT 1/4"(M) to articulated connection DECA.

DE-IC-01-06 M8x1 keg(M) to articulated connection DECA.

DE-IC-01-07 M10x1 keg(M) to articulated connection DECA.

DE-IC-01-08 BSPT 1/8"(M) to articulated connection DECA.

DE-IC-01-09 NPT 1/8"(M) to articulated connection DECA.

DE-IC-01-10 NPT 1/4"(M) to articulated connection DECA.

DE-IC-01-11 M10x1.5(M) to articulated connection DECA.

DE-IC-01-12 M10x1(M) with 10 mm hexagon to articulated connection DECA.
DE-IC-01-13 BSPP 1/8"(M) with 10 mm hexagon to articulated connection DECA.
DE-IC-01-14 M10x1.5(M) with 10 mm hexagon to articulated connection DECA.
DE-IC-02-00 Ball OD:10 mm to articulated connection DECA.

DE-IC-02-01 Ball OD:12 mm to articulated connection DECA.

DE-IC-02-02 Ball OD:14 mm to articulated connection DECA.

DE-IC-02-03 Ball OD:15 mm to articulated connection DECA.

DE-IC-03-00 M8x1 (M) to Nut for compression ring 1D:6 mm DECA.




scs(e

High Pressure

_ Men
| M7.5/05 |

14.10

DE-IC-01-00

_ M7.5/05 _

- Mé -

_BSPP 1/8728 _

SECTION A-A

DE-IC-01-04 DE-IC-01-05




scs(e

High Pressure

J

!
M

”Hmm

—

M10/1.0 keg
QA

| M7.50/0.5

DE-IC-01-07

il rmq ;j_}‘

W“ m]

DE-IC-01-08 DE-IC-01-09

i

\ i |
\ \M \ J‘U‘y T . ‘ F |
: W\ M ' \ j : Nl\\\wmm ]_( W |
Ul ( ‘ _ ‘; J%//(// /_\ 4/% ;{ZV\AM e(
oo Lﬁg

15.70

DE-IC-01-10 DE-IC-01-11




scs(e

High Pressure

h lu

|

."\
@
777 7

| M\W ‘WH L

MID/ 1.0
M7.5 /0.5

/ / & .
/ .
/" /
L /\/\_/// / /j
14.90

DE-IC-01-12

9 BN \\\

& ( : |

=z - s\ N )

KAt / i = \\_ //
00

DE-IC-01-14

DE-IC-02-01 DE-IC-02-02




scs(e

High Pressure

‘ \WJ RO
T MWW

L NAAR A

DE-IC-02-03 DE-IC-03-00

Ball valves:/Rk—JL/\ )L T

=S MROFNEEMEIIHET 51=0D I ZF 27 /\—JLNLTTT,
TEEMOEOICERY H+ES
ME: yO0—LAYXERK

B Rz

UN-VA-01-00 Closing valve PN10, BSPP 1/8"(M) and BSPP 1/8"(F) chromed-plated brass.

UN-VA-01-01 Closing valve PN10, BSPP 1/4"(M) and BSPP 1/4"(F) chromed-plated brass.

UN-VA-01-00 UN-VA-01-01

www_scs-hp.com




scs(e

High Pressure

Articulated connection: E#EZB
RIS SERMEESR, TeRIAE £252 ID:3 mm.
ME: AF—IJL

43X AR
DE-AC-01-00 Articulated connection DECA L:12.5 mm
DE-AC-01-01 Articulated connection DECA L:27.5 mm
DE-AC-01-02 Articulated connection DECA L:42.5 mm
DE-AC-01-03 Articulated connection DECA L:57.5 mm
DE-AC-01-04 Articulated connection DECA L:72.5 mm
DE-AC-02-00 Articulated connection to 90° DECA

y \ ‘ ‘F N “ ) MM
\ /})M é/ﬂtmﬁ\*”*qu\ /“v,;‘ @

DE-AC-01-0 DE-AC-01-01

DE-AC-01-02 DE-AC-01-03




scs(e

High Pressure

0> | HW m(ell .
=V 1?/ ,j‘t’ =i \u_mw /)

DE-AC-01-04 DE-AC-02-00

SECTION A-A

Distributors and adaptors: Y =7 4 74—
BES A LOIE. RUHD SCS &R 7 A~DIEIEDHS

ME: AF—IL
il AR

DE-DA-01-00 “Y” distributor to articulated connection DECA

DE-DA-01-00




scs(e

High Pressure

Coolant nozzles:/ X)L
J RIVIZIZER BRI D B Y . HOPBU—F 2 MEREHIZHELET,
ME: AF—IL

K

A&

DE-NZ-01-00 Straight nozzle ID:3 mm & L:9 mm
DE-NZ-01-01 Straight nozzle ID:2 mm & L:9 mm
DE-NZ-01-02 Straight nozzle ID:3 mm & L:20 mm
DE-NZ-01-03 Straight nozzle ID:2 mm & L:20 mm
DE-NZ-01-04 Straight nozzle ID:1.5 mm & L:20 mm
DE-NZ-01-05 Straight nozzle ID:1 mm & L:20 mm
DE-NZ-01-06 Straight nozzle ID:1.5 mm & L:9 mm
DE-NZ-01-07 Straight nozzle ID:1 mm & L:9 mm
DE-NZ-01-08 Straight nozzle ID:22 mm x 2 & L:12 mm
DE-NZ-01-09 Straight nozzle ID:1.8 mm x 3 & L:12 mm
DE-NZ-01-10 Straight nozzle ID:0 mm & L:9 mm
DE-NZ-02-00 Nozzle 45° simple ID:3 mm & L:15 mm
DE-NZ-02-01 Nozzle curved 45° ID:2 mm & L:20 mm
DE-NZ-02-02 Nozzle curved 45° ID:1.5 mm & L:20 mm
DE-NZ-02-03 Nozzle curved 45° ID:1 mm & L:20 mm
DE-NZ-03-00 Nozzle 90° ID:3 mm & L:15 mm
DE-NZ-03-01 Nozzle 3 outlets at 90° ID:1.8 mm & L:15 mm
DE-NZ-03-02 Nozzle 90° simple ID:3 mm & L:12 mm
DE-NZ-03-03 Nozzle 90° simple ID:1.5 mm & L:12 mm
DE-NZ-03-04 Nozzle 2 outlets at 90° simple ID:1.5 mm & L:12 mm

DE-NZ-01-00




scs(e

High Pressure

DE-NZ-01-06 DE-NZ-01-07

www_scs-hp.com




scs(e

High Pressure

www_scs-hp.com



scs(e

High Pressure

¢
Lo m"‘\vf
| >;*)’\ NN L

) o

SECTION F-F

DE-NZ-03-01




scs(e

High Pressure

Starter kit : X 2—42—x% v b+
DECA V) —RADS5 5, RLNBWET T ) 5r—2 a3 o THERLIZRE—42—F v K,
F5:30g

BIst iz

DECA: R4—%—Fvy
— RS EIA 2K L=135mm.
F=:3009.
b3Sl
DE-IC-01-00 M8x1(M) x1.
IEEER

DE-SK-01-00 DE-AC01-00 L125mm  x5.
DE-AC01-02 L425mm x1
/X
DENZ01-00 R kL—F/ X)L ID3mm&LImm x1
RINF
DE-FK-01-00 SW8&SW9 x1

ITEM NO.| PARTNUMBER |DESCRIPTION| QTY.
DE-IC-01-00
DE-AC-01-00
|DE-AC-01-02
DE-NZ-01-00
DE-FK-01-00-1
DE-FK-01-00-2

— == | =y | —

o (N W M| —

DE-SK-01-00




scs(e

High Pressure

HECTO (6 mm) PROGRAM

Initial connection: 1EE2R
Btisieeal & B SR i/ X\—"/, ID : 6mm

ME . XRF—1

il

AR

HE-IC-01-00 BSPP 1/8"(M) to articulated connection HECTO.
HE-IC-01-01 BSPP 3/8"(M) to articulated connection HECTO.
HE-IC-01-02 BSPP 1/4"(M) to articulated connection HECTO.
HE-IC-01-03 M8x1(M) to articulated connection HECTO.
HE-IC-01-04 M10x1(M) to articulated connection HECTO.
HE-IC-01-05 NPT 1/8"(M) to articulated connection HECTO.
HE-IC-01-06 NPT 3/8"(M) to articulated connection HECTO.
HE-IC-01-07 NPT 1/4"(M) to articulated connection HECTO.
HE-IC-01-08 BSPT 1/4"(M) to articulated connection HECTO.
HE-IC-02-00 Ball OD:10 mm to articulated connection HECTO.
HE-IC-02-01 Ball OD:12 mm to articulated connection HECTO.
HE-IC-02-02 Ball OD:14 mm to articulated connection HECTO.
HE-IC-02-03 Ball OD:15 mm to articulated connection HECTO.
HE-IC-03-00 BSPP 1/8"(M) to Nut for compression ring ID:8 mm HECTO.

HE-IC-01-00

q%\‘\{

] i
\'1\"|I|M."."‘| . 'H“.\'

HE-IC-01-01




55 (e

High Pressure

; [N

= AN
il

HE-IC-01-06

\.“
| Ly S

HE-IC-01-07

www_scs-hp.com



scs(e

High Pressure

HE-IC-02-00

HE-IC-02-02

HE-IC-01-08

HE-IC-02-01

HE-IC-03-00

HE-IC-02-03

www_scs-hp.com



scs(e

High Pressure

Ball valves: R—JL/\)L T

H—Z 2 MROFNEEME-ITFHIET 51=600D I —F 2 7/\—I)L/\)LTTT,
T OIZERY F+FET

ME: yO—LAVYXERK

Rzt R

UN-VA-01-00 Closing valve PN10, BSPP 1/8"(M) and BSPP 1/8"(F) chromed-plated brass.
UN-VA-01-01 Closing valve PN10, BSPP 1/4"(M) and BSPP 1/4"(F) chromed-plated brass.
UN-VA-01-02 Closing valve PN10, BSPP 3/8"(M) and BSPP 3/8"(F) chromed-plated brass.

UN-VA-01-00

UN-VA-01-02




scs(e

High Pressure

Articulated connection: EfGEER
FRE(CIEG T AEARNERESS, HeBRIAE +25° ID:6mm
ME: RF—)L

Rzt mE
HE-AC-01-00 Articulated connection HECTO L:20.5 mm

HE-AC-01-01 Articulated connection HECTO L:45.5 mm
HE-AC-01-02 Articulated connection HECTO L:70.5 mm
HE-AC-01-03 Articulated connection HECTO L:95.5 mm
HE-AC-01-04 Articulated connection HECTO L:120.5 mm
HE-AC-02-00 Articulated connection to 90° HECTO

3.00 . = s A "
" SECTION A-A - - - : - SECTION A-A

HE-AC-01-01

eyl
.SECTIONAA-

"SECTION A-A.

HE-AC-01-02 HE-AC-01-03




scs(e

High Pressure

e— e——
f=—=——— j——
— I

HE®): | [IE

SECTION A-A "

SECTION A-A

HE-AC-01-04 HE-AC-02-00

Distributors and adaptors: Y 7 4 74—
BT A VDR, RUMED SCS ¥ X T LANDYLFRD 3Tt

ME: XF—)L

HE-DA-01-00 “Y” distributor to articulated connection HECTO

HE-DA-01-00



scs(e

High Pressure

Coolant nozzles: / X)L
J ZIZIFBRRGIRDHY . HowdI—F 2 MUEEEHTHIELET,
ME : AF—)L
2 NE
HE-NZ-01-00 Straight nozzle. ID:6 mm & L:16 mm
HE-NZ-01-01 Straight nozzle. ID:3 mm & L:16 mm
HE-NZ-01-02 Straight nozzle. ID:2 mm & L:16 mm
HE-NZ-01-03 Straight nozzle. ID:6 mm & L:35 mm
HE-NZ-01-04 Straight nozzle. ID:3 mm & L:35 mm
HE-NZ-01-05 Straight nozzle. ID:3 mm x 3 & L:20 mm
HE-NZ-01-06 Straight nozzle coaxial. ID:3.4 x 3 & L=20 mm
HE-NZ-01-07 Straight nozzle coaxial. ID:2.7 x 5 & L=20 mm
HE-NZ-01-08 Straight nozzle. ID:1 mm & L:16 mm
HE-NZ-02-00 Nozzle 45°. ID:6 mm & L:23.5 mm
HE-NZ-02-01 Nozzle 45° simple. ID:6 mm & L:20 mm
HE-NZ-03-00 Nozzle 90°. ID:6 mm & L:20 mm
HE-NZ-03-01 Nozzle 90°. ID:3.4 mm x 3 & L:24 mm
HE-NZ-03-02 Nozzle 90° simple. ID:6 mm & L:20 mm

M
2.

e\

———

,
Y —
// / e
//,/
/ 7~z X
_/l \




scs(e

High Pressure




scs(e

High Pressure

®)
()
W

SECTION A-A

www_scs-hp.com



scs(e

High Pressure

Starter kit:
HECTO &) —XMD 55, JELABMGET TV 5— 3 U TCHERLERE—42—F v |,
F8:120g

it ‘ NE

HECTO X Z3—2—%v |
— &7 AEHIR 2K L=220 mm
FX:120¢9

FEiaR
HE-IC-01-00 BSPP 1/8"M)  x1
G
HE-SK-01-00 HE-AC-01-00 L:220.5mm x5
HE-AC-01-02 L:70.5mm x1

J X)L
HE-NZ-01-00 R kL—Fr/ X)L IDEMM&L:16 mm  x1
AINF

HE-FK-01-00 SW13 & SW15  x1

> ITEM NO.| PART NUMBER |DESCRIPTION| QTY.
[HE-IC-01-00 1
HE-AC-01-00 E
HE-AC-01-02 L
1
1
]

[HE-NZ-01-00
[HE-FK-01-00-1
[HE-FK-01-00-2

O On | B [ R | —




scs(e

High Pressure

MEGA (10.5 mm) PROGRAM
Initial connection: EHER

BRI ER & EEERDIER/ X—/, ID : 10.5mm
M8 RF—

B
ME-IC-01-00

NE
BSPP 3/8"(M) to articulated connection MEGA.

ME-IC-01-01 BSPP 1/2"(M) to articulated connection MEGA.
ME-IC-01-02 NPT 3/8"(M) to articulated connection MEGA.
ME-IC-01-03 NPT 1/2"(M) to articulated connection MEGA.
ME-IC-01-04 BSPT 3/8"(M) to articulated connection MEGA.
ME-IC-01-05 BSPT 1/2"(M) to articulated connection MEGA.

_ BSP3/8719 _

ME-IC-01-00

%‘

0 CARRRR R

ME-IC-01-02

ME-IC-01-03

I

L, ()| - AT
L O] ek

.




scs(e

High Pressure

ME-IC-01-04 ME-IC-01-05

Ball valves:/Rk—JL/\ )L T

D=3 NROFNEEME - IEHET 510D I ZF 17 /\—IL/NLTTT,
TERMOEOIZIRYAMAITET,
ME: Y O—LAyXER

B Rz

UN-VA-01-02 Closing valve PN10, BSPP 3/8"(M) and BSPP 3/8"(F) chromed-plated brass.
UN-VA-01-03 Closing valve PN10, BSPP 1/2"(M) and BSPP 1/2"(F) chromed-plated brass.

"

)
A
X
I r i\

A AT

| |

L
UN-VA-01-02 UN-VA-01-03




scs(e

High Pressure

Articulated connection: EfGER
FRE(CIEG T AEARMNEREST, TERIARE +252 1D:10.5mm
ME: RAF—)L

Rzt B
ME-AC-01-00 Articulated connection MEGA L:28.5 mm
ME-AC-01-01 Articulated connection MEGA L:78.5 mm
ME-AC-01-02 Articulated connection MEGA L:128.5 mm
ME-AC-01-03 Articulated connection MEGA L:178.5 mm

ME-AC-01-04 Articulated connection MEGA L:228.5 mm
ME-AC-02-00 Articulated connection to 902 MEGA

77777 a—— P ap“ - ——
/aa X l | ] lw‘w H[I W/ 722N
7 ) '/; : [ A\ “ ) - f ) ' {;;’(\\f.}[\}
. | —yp 3y gl D)
SECTION B-B RN | )

P SECTION C-C

i T—j SECTION A-A A SECTION A-A

ME-AC-01-02 ME-AC-01-03




scs(e

High Pressure

SECTION A-A

SECTION A-A

ME-AC-01-04 ME-AC-02-00

Distributors and adaptors: Y 7 4 74—
BT A VDR, RUMED SCS ¥ X T LANDYLFRD 3Tt

ME: XF—)L

ME-DA-01-00 “Y” distributor to articulated connection GIGA

SECTION A-A

ME-DA-01-00



scs(e

High Pressure

Coolant nozzles:/ X)L
7 RIVZIFERBRARDBHY . Ho B9 —5 > MU IR/ELET,
ME: AF—IL

K A&
ME-NZ-01-00 Straight nozzle ID:10.5 mm & L:27 mm
ME-NZ-01-01 Straight nozzle ID:7 mm & L:27
ME-NZ-01-02 Straight coaxial nozzle ID:6 mm x 3 & L:34
ME-NZ-01-03 Straight coaxial nozzle ID:4.6 mm x 5 & L:34
ME-NZ-01-04 Straight nozzle ID:6 mm x2 & L:34 mm
ME-NZ-02-00 Nozzle 45° ID:10.5 mm & L:50 mm
ME-NZ-02-01 Nozzle 45° simple ID:10.5 mm & L:34 mm
ME-NZ-03-00 Nozzle 90° ID:10.5 mm & L:34 mm
ME-NZ-03-01 Nozzle 5 outlets at 90° ID:4.5 mm & L:49 mm
ME-NZ-03-02 Nozzle 90° simple ID:10.5 mm & L:34 mm

ME-NZ-04-00 Modular nozzle body W:68 mm & H:18 mm. Must be mounted with ME-
NZ-04-01 or ME-NA-04-02

ME-NZ-04-01 Modular nozzle outlet 0° slot W:60 mm & H:2 mm. Must be mounted with
ME-NZ-04-00




scs(e

High Pressure

ME-NZ-02-01

www_scs-hp.com




scs(e

High Pressure

SECTION A-A g |f((j( )Q}l‘

ME-NZ-04-01

ME-NZ-04-00 + ME-NZ-04-01

ME-NZ-04-00 ME-NZ-04-01




scs(e

High Pressure

Starter kit : X 2—42—x% v
MEGA V1) —XMD 56, L AAWLET TV r—a v TEBELIEER 24— —F% v k
F5:440g.

X AR

MEGA : X3—43—F%v b

— RS EA 2K L=260mm
EE: 4409

FEbTEn

ME-IC-01-00 BSPP 3/8"(M) 1
EHTE

ME-SK-01-00 ME-AC-01-00 L2285 mm x1
ME-AC-01-01 L:785mm x5

7 X

ME-NZ-01-00 X kL—F/ X)L ID:10.5mm & L:227 mm  x1
RINTF

ME-FK-01-00 SW21 & SW24 x1

ITEMNO.‘ PARTNUMBER |DESCRIPTION| QY.

}ME—IC—OI .00
ME-AC-01-00

ME-AC-01-02

IME-NZ-01-00

ME-FK-01-00-1
IME-FK-01-00-2

o jn e (WM —
— == |=|tn|—




scs(e

High Pressure

GIGA (16 mm) PROGRAM
Initial connection: EHER

BRI ER & EERR DR/ X—"/, ID : 16mm
M8 RF—

2 AR
GHC01-00 BSPP 1/2"(M) to articulated connection GIGA.
GHC-01-01 BSPP 3/4"(M) to articulated connection GIGA.
GHC-01-02 BSPP 1"(M) to articulated connection GIGA.
GHC-01-03 NPT 1/2"(M) to articulated connection GIGA.
GHC01-04 NPT 3/4"(M) to articulated connection GIGA.

_ BSPP3/4714

BSPP 1711

GI-IC-01-02 GI-IC-01-03



scs(e

High Pressure

Nl

i W

Gl-IC-01-04

Ball valves: R—)L/\J)L D
HD—S5 2 MROFNEEREIZEET 2=00 I =ZF 2 7/\—IL/\ILTTT, TEMEHOTE

OICERYSFFEYT
ME: U O—LAyXHIR

UN-VA-01-03 Closing valve PN10, BSPP 1/2"(M) and BSPP 1/2"(F) chromed-plated brass.

UN-VA-01-03



scs(e

High Pressure

Articulated connection: EfGEER
MRE(CIEGT AEARMERES, ERIARE £25° ID:16mm

ME: RAF—IL
il o
GI-AC-01-00 Articulated connection GIGA L:37 mm
GI-AC-01-01 Articulated connection GIGA L:87 mm

GI-AC-01-02 Articulated connection GIGA L:137 mm
GI-AC-01-03 Articulated connection GIGA L:187 mm
GI-AC-01-04 Articulated connection GIGA L:237 mm
GI-AC-02-00 Articulated connection to 90° GIGA

" SECTION A-A | 3000 _
SECTION A-A

" SECTION A-A

SECTION A-A

GI-AC-01-02 GI-AC-01-03




scs(e

High Pressure

R _
l L/ TN
I\ — \
|
I\l !
I R N\
A

<UL & - -
" SECTION A-A SECTION A-A

GI-AC-01-04 GI-AC-02-00

Distributors and adaptors: Y £7 & 74—
BES A D OWER, RUMEOD SCS & X T LADHEARD X
ME: RF—IL

Description
GI-DA-01-00 “Y” distributor to articulated connection GIGA

SECTION A-A

GI-DA-01-00




scs(e

High Pressure

Coolant nozzles:/ X)L
7 RIVZIFERBRARDBHY . Ho B9 —5 > MU IR/ELET,
ME: AF—IL

Bzt M

GI-NZ-01-00 Straight nozzle. ID:16 mm & L:38.5 mm
GI-NZ-01-01 Straight nozzle. ID:10 mm & L:38.5
GI-NZ-02-00 Nozzle 45°. ID:16 mm & L:38.5 mm
GI-NZ-03-00 Nozzle 90%. ID:16 mm & L:38.5 mm




scs(e

High Pressure

Starter kit : X 2—4—x v

DECA L )—AD5 56, JRELNAMGET T) 75— a U THERLERE—42—F v |,

BE:1160g.
B AR

GIGA R4—4A—%vy |+
—REAEA £K L=330 mm.
EE:11604.

fEfast

GI-IC-01-00 BSPP 1/2"(M) x1
EHEED

GI-SK-01-00 GI-AC-01-00 L:37mm x5
GI-AC-01-01 L:87mm x1

J X

GI-NZ-01-00 ID:16 mm & L:38.5mm  x1
RINT

GI-FK-01-00 SW30 & SW35 1

ITEM NO.| PARTNUMBER |DESCRIPTION| QTY.

GHIC-01-00
|GI-AC-01-00
GI-AC-01-02
GIHNZ-01-00
GI-FK-01-00-1
GI-FK-01-00-2

— == | = || —

ol WK —




scs (e

High Pressure

Fastening keys for the articulated system: X/\7
FN—VERBET DAR/NT

Rzt AES
DE-FK-01-00 SW8 & SW9
HE-FK-01-00 SW13 & SW15
ME-FK-01-00 SW21 & SW24
GI-FK-01-00 SW30 & SW35

%
I |

|

|
[

| -

<BRFEAERIE> MEROHFROTEY, FEELICEET 258008V ET
NKD—OJ Atk a1t
http://www.nk-works.co.jp/ P
E-mail : info@nk-works.co.jp et/ s
RRAfE T101-0032 HREBBFREXEARH2-17-17 HREBT AR E AR 2-17-17
TEL : 03-3864-5411 FAX: 03-3864-6752 TEL:03-3851-5821  FAX:03-3851-5810

REEPT . 2R - b - KR - [R5 - 8 - O<(E - &S






